

RELATÓRIO DE PESQUISA

SOME RESULTS ON PARTITIONS WITH
DIFFERENCE CONDITIONS

José Plínio O. Santos

and

Paulo Mondek

Abril

RP 24/97

**INSTITUTO DE MATEMÁTICA
ESTATÍSTICA E COMPUTAÇÃO CIENTÍFICA**



UNICAMP

UNIVERSIDADE ESTADUAL DE CAMPINAS

ABSTRACT - In this paper we prove a few theorems on partitions including one result previously given by Gordon. To do this we use some of Slater's identities.

IMECC - UNICAMP
Universidade Estadual de Campinas
CP 6065
13083-970 Campinas SP
Brasil

O conteúdo do presente Relatório de Pesquisa é de única responsabilidade do(s) autor(es).

Abril - 1997

SOME RESULTS ON PARTITIONS WITH DIFFERENCE CONDITIONS

by

José Plinio O. Santos
and *Paulo Mondek*

Abstract: *In this paper we prove a few theorems on partitions including one result previously given by Gordon. To do this we use some of Slater's identities.*

Many of the identities given by Slater [5] have been used to help in proving several combinatorial results in partitions. Here we used identities 34, 36, 53 and 57 that are listed, in this order, below:

$$\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n(n+2)}}{(q^2; q^2)_n} = \prod_{n=1}^{\infty} \frac{(1 + q^{2n-1})(1 - q^{8n-1})(1 - q^{8n-7})(1 - q^{8n})}{(1 - q^{2n})} \quad (1)$$

$$\sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2}}{(q^2; q^2)_n} = \prod_{n=1}^{\infty} \frac{(1 + q^{2n-1})(1 - q^{8n-3})(1 - q^{8n-5})(1 - q^{8n})}{(1 - q^{2n})} \quad (2)$$

$$\sum_{n=0}^{\infty} \frac{(q; q^2)_{2n} q^{4n^2}}{(q^4; q^4)_{2n}} = \prod_{n=1}^{\infty} \frac{(1 - q^{12n-5})(1 - q^{12n-7})(1 - q^{12n})}{(1 - q^{4n})} \quad (3)$$

$$\sum_{n=0}^{\infty} \frac{(-q; q^2)_{2n+1} q^{4n(n+1)}}{(q^4; q^4)_{2n+1}} = \prod_{n=1}^{\infty} \frac{(1 + q^{12n-1})(1 + q^{12n-11})(1 - q^{12n})}{(1 - q^{4n})} \quad (4)$$

The results proved in this paper were done in a way that is similar to the proofs given by Andrews in [1] for some Theorems of Göllnitz.

Theorem 1 The number of partitions of n in an even number of parts, $2s$, such that $a_{2j-1} - a_{2j} = 1$ or 2 and $a_{2s} \geq 1$ is equal to the number of partitions of n in parts $\equiv \pm 3, 4 \pmod{8}$.

Proof.: Let $A(n)$ denote the number of partitions described in the first part of the theorem, i.e, partitions of the form $a_1 + a_2 + \dots + a_{2s}$, where $a_{2j-1} - a_{2j} = 1$ or 2 and $a_{2s} \geq 1$.

We define, for $\lambda = 1$ or 2 , $g_\lambda(2s, n)$ as the number of partitions of the type enumerated by $A(n)$ with the added restriction that the number of parts is exactly $2s$ and each part $\geq \lambda$. For $n = s = 0$ we define $g_\lambda(2s, n) = 1$ and $g_\lambda(2s, n) = 0$ if $n < 0$ or $s < 0$ or $n = 0$ and $s > 0$.

In what follows we prove two identities for $g_\lambda(2s, n)$.

$$(i) \quad g_1(2s, n) = g_2(2s - 2, n - 2s - 2) + g_1(2s - 2, n - 2s - 1) + g_1(2s, n - 2s)$$

$$(ii) \quad g_2(2s, n) = g_1(2s, n - 2s).$$

To prove the first one we split the partitions enumerated by $g_1(2s, n)$ into two classes: (a) those partitions in which 1 is a part and (b) those in which 1 is not a part.

The ones in class (a) can have as the two smallest parts either "3+1" or "2+1". In the first case if we remove the "3+1" and subtract 1 from each of the remaining parts we are left with a partition of $n - (3+1) - (2s-2) = n - 2s - 2$ into $2s-2$ parts each ≥ 2 and these are the partitions enumerated by $g_2(2s-2, n-2s-2)$. From those in class (a) having "2+1" as smallest parts we remove the "2+1" and subtract 1 from each of the remaining parts. In doing this we are left with a partition of $n - (2+1) - (2s-2) = n - 2s - 1$ into $2s-2$ parts each ≥ 1 and these are the partitions enumerated by $g_1(2s-2, n-2s-1)$. It is important to observe that after doing these operations the restrictions on the difference between parts is not changed.

Now we consider the partitions from class (b). Since 1 is not a part we can subtract 1 from each part obtaining a partitions of $n - 2s$ in $2s$ parts and these are

the ones enumerated by $g_1(2s, n - 2s)$ which completes the proof of identity (i).

The proof for (ii) follows by the reason we have just mention in the consideration of class (b).

Next we define

$$G_\lambda(z, q) = \sum_{n=0}^{\infty} \sum_{s=0}^{\infty} g_\lambda(2s, n) z^{2s} q^n.$$

Using, now, identity (i) we have

$$\begin{aligned} G_1(2s, n) &= \sum_{n=0}^{\infty} \sum_{s=0}^{\infty} g_1(2s, n) z^{2s} q^n \\ &= \sum_{n=0}^{\infty} \sum_{s=0}^{\infty} (g_2(2s - 2, n - 2s - 2) + g_1(2s - 2, n - 2s - 1) + \\ &\quad g_1(2s, n - 2s)) z^{2s} q^n \\ &= z^2 q^4 \sum_{n=0}^{\infty} \sum_{s=0}^{\infty} g_1(2s - 2, n - 4s) (zq^2)^{2s-2} q^{n-4s} + \\ &\quad z^2 q^3 \sum_{n=0}^{\infty} \sum_{s=0}^{\infty} g_1(2s - 2, n - 2s - 1) (zq)^{2s-2} q^{n-2s-1} + \\ &\quad \sum_{n=0}^{\infty} \sum_{s=0}^{\infty} g_1(2s, n - 2s) (zq)^{2s} q^{n-2s} \\ &= z^2 q^4 G_1(zq^2, q) + z^2 q^3 G_1(zq, q) + G_1(zq, q) \end{aligned} \quad (5)$$

where, on the first sum, we used (ii).

Now, comparing coefficients of z^{2n} in (5) after making the substitution

$$\begin{aligned} G_1(z, q) &= \sum_{n \geq 0} \gamma_n z^{2n}, \text{ we have} \\ \gamma_n &= q^{4n} \gamma_{n-1} + q^{2n+1} \gamma_{n-1} + q^{2n} \gamma_n. \end{aligned}$$

Therefore

$$\gamma_n = q^{2n+1} \frac{(1 + q^{2n-1})}{(1 - q^{2n})} \gamma_{n-1} \quad (6)$$

and, observing that $\gamma_0 = 1$, we may iterate this $n - 1$ times to get:

$$\gamma_n = \frac{(-q; q^2)_n q^{n(n+2)}}{(q^2; q^2)_n}.$$

Then

$$G_1(z, q) = \sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n(n+2)}}{(q^2; q^2)_n} z^{2n}$$

and the theorem follows since

$$\begin{aligned} \sum_{n=0}^{\infty} A(n)q^n &= \sum_{n=0}^{\infty} \sum_{s=0}^{\infty} g_1(2s, n)q^n = G_1(1, q) \\ &= \sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n(n+2)}}{(q^2; q^2)_n} \\ &\stackrel{(1)}{=} \prod_{n=1}^{\infty} \frac{1}{(1 - q^{8n-3})(1 - q^{8n-4})(1 - q^{8n-5})}. \end{aligned} \quad (7)$$

We observe, now, that the partitions of n with an even number of parts $2s$ where $a_{2j-1} - a_{2j} = 1$ or 2 , $a_{2s} \geq 1$ can be transformed into partitions of n in s parts just by adding the parts $a_{2j-1} + a_{2j}$, i.e., the partition

$$a_1 + a_2 + \cdots + a_{2j-1} + a_{2j} + a_{2j+1} + \cdots + a_{2s}$$

is transformed in

$$b_1 + b_2 + \cdots + b_j + \cdots + b_s$$

where $b_j = a_{2j-1} + a_{2j}$, $b_j - b_{j+1} \geq 2$ and $b_j - b_{j+1} \geq 3$ if b_{j+1} is even with the restriction $b_s \geq 3$.

This operation can be reversed, easily, in the following way:

if b_j is even we write it as $a_{2j-1} + a_{2j}$ where $a_{2j-1} = \frac{b_j}{2} + 1$ and $a_{2j} = \frac{b_j}{2} - 1$,
if b_j is odd we write it as $a_{2j-1} + a_{2j}$ where $a_{2j-1} = \frac{b_j+1}{2}$ and $a_{2j} = \frac{b_j-1}{2}$.

With this transformation we get the original one

$$a_1 + a_2 + \cdots + a_{2s}$$

with exactly the same restrictions, i.e., $a_{2j-1} - a_{2j} = 1$ or 2 and $a_{2s} \geq 1$.

To illustrate this we list the partitions of 16 as described in the theorem and the ones obtained by the transformation given above.

16	↔	9 + 7
13 + 3	↔	7 + 6 + 2 + 1
12 + 4	↔	7 + 5 + 3 + 1
11 + 5	↔	6 + 5 + 3 + 2
10 + 6	↔	6 + 4 + 4 + 2
9 + 7	↔	5 + 4 + 4 + 3
8 + 5 + 3	↔	5 + 3 + 3 + 2 + 2 + 1

By this transformation we have proved the following theorem:

"The number of partitions of n of the form

$$n = b_1 + b_2 + \cdots + b_s, \quad (8)$$

where $b_j - b_{j+1} \geq 2$, $b_j - b_{j+1} \geq 3$ if b_{j+1} is even and $b_s \geq 3$

is equal to the number of partitions of n into parts $\equiv \pm 3, 4 \pmod{8}$."

This Theorem was proved by Gordon in [3] (Theorem 3, page 741) and can be, also, proved in a similar way as we did for Theorem 1.

The proof is as follows:

Let $B(n)$ denote the number of partitions of n as in (8).

We define $g(s, n)$ as the number of partitions of the type enumerated by $B(n)$ with the added restriction that the number of parts is exactly s . The following identity is verified by $g(s, n)$:

$$g(s, n) = g(s-1, n-2s-1) + g(s-1, n-4s) + g(s, n-2s). \quad (9)$$

To see this we split the partitions enumerated by $g(s, n)$ into three classes:

- (a) the ones in which 3 is a part
- (b) the ones in which 4 is a part
- (c) the ones with parts > 4 .

For the partitions in class (a) we drop the part "3" and subtract 2 from each of the remaining parts. In doing so we are left with a partition of $n - 2s - 1$ into exactly $s - 1$ parts satisfying (8) and these are the partitions enumerated by

$g(s-1, n-2s-1)$. In class (b) we drop the part "4" and subtract 4 from each of the remaining parts obtaining partitions that are enumerated by $g(s-1, n-4s)$ and finally for class (c) we just subtract 2 from each part obtaining the partitions enumerated by $g(s, n-2s)$ which completes the proof of (9).

Next we define

$$G(z, q) := \sum_{n=0}^{\infty} \sum_{s=0}^{\infty} g(s, n) z^s q^n.$$

Therefore using (9) we get

$$\begin{aligned} G(z, q) &= \sum_{n=0}^{\infty} \sum_{s=0}^{\infty} g(s, n) z^s q^n = \\ & zq^3 \sum_{n=0}^{\infty} \sum_{s=0}^{\infty} (g(s-1, n-2s-1)(zq^2)^{s-1} q^{n-2s-1} + \\ & zq^4 \sum_{n=0}^{\infty} \sum_{s=0}^{\infty} g(s-1, n-4s)(zq^4)^{s-1} q^{n-4s} + \\ & \sum_{n=0}^{\infty} \sum_{s=0}^{\infty} g(s, n-2s)(zq^2)^s q^{n-2s} \\ &= zq^3 G(zq^2, q) + zq^4 G(zq^4, q) + G(zq^2, q) \end{aligned} \quad (10)$$

If $G(z, q) = \sum_{n=0}^{\infty} \gamma_n z^n$ we get, by comparing coefficient in both sides of (10) that

$$\gamma_n = q^{2n+1} \gamma_{n-1} + q^{4n} \gamma_{n-1} + q^{2n} \gamma_n$$

i.e.,

$$\gamma_n = q^{2n+1} \frac{(1+q^{2n-1})}{(1-q^{2n})} \gamma_{n-1}$$

which is (6) and, therefore

$$G(z, q) = \sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n(n+2)}}{(q^2; q^2)_n} z^n$$

From this we have

$$\sum_{n=0}^{\infty} B(n) q^n = \sum_{n=0}^{\infty} \sum_{s=0}^{\infty} g(s, n) q^n = G(1, q) = \sum \frac{(-q; q^2)_n q^{n(n+2)}}{(q^2; q^2)_n}$$

which is (7) completing the proof.

Theorem 2 of Gordon in [3] can be, also, obtained in the way we have just proved his Theorem 3 or by a bijection after proving the following theorem:

Theorem 2. The number of partitions of n in an even number of parts, $2s$, such that $a_{2j-1} - a_{2j} = 1$ or 2 and $a_{2s} \geq 0$ is equal to the number of partitions of n in parts $\equiv \pm 1, 4 \pmod{8}$.

We omit the proof since it follows in exactly the same way of our Theorem 1 making use of identity (2) which is identity 36 in Slater [5].

In our next theorem we used identities 53 and 57 of Slater.

Theorem 3. The number of partitions of n in distinct parts of the form $n = a_1 + a_2 + \dots + a_s$, where $a_i \equiv 1$ or $2 \pmod{4}$, $a_i \equiv 3$ or $4 \pmod{4}$ if $a_{i+1} \equiv 1$ or $4 \pmod{4}$ and $a_i \equiv 1$ or $2 \pmod{4}$ if $a_{i+1} \equiv 2$ or $3 \pmod{4}$ is equal to the number of partitions of n in parts that are distinct odd $\equiv \pm 5 \pmod{12}$ or even $\equiv \pm 4 \pmod{12}$ plus the number of partitions of " $n-1$ " in distinct odd $\equiv \pm 1 \pmod{12}$ or even $\equiv \pm 4 \pmod{12}$.

Proof.: Let $C(n)$ denote the number of partitions described in the first part of the theorem. We define $f(s, n)$ as the number of partitions of the type enumerated by $C(n)$ with the added restriction that the number of parts is exactly s and each part ≥ 1 . The following identity is true for $f(s, n)$:

$$f(s, n) = f(s-1, n-2s+1) + f(s-1, n-4s+2) + f(s, n-4s). \quad (11)$$

To prove this we split the partitions enumerated by $f(s, n)$ into three classes: (a) those in which 1 is a part, (b) those in which 2 is a part and (c) those with all parts > 2 .

If in those from class (a) we drop the part "1" and subtract 2 from each of the remaining parts we are left with a partition of $n-1-2(s-1) = n-2s+1$ in exactly

$s-1$ parts each ≥ 1 and these are the ones enumerated by $f(s-1, n-2s+1)$. From those in class (b) we drop the part "2" and subtract 4 from each of the remaining parts obtaining partitions that are enumerated by $f(s-1, n-4s+2)$ and for the ones in class (c) we subtract 4 from each part obtaining the partitions enumerated by $f(s, n-4s)$.

Now we define

$$F(z, q) = \sum_{n=0}^{\infty} \sum_{s=0}^{\infty} f(s, n) z^s q^n$$

and using (11) we get:

$$\begin{aligned} F(z, q) &= \sum_{n=0}^{\infty} \sum_{s=0}^{\infty} (f(s-1, n-2s+1) + f(s-1, n-4s+2) + f(s, n-4s)) z^s q^n \\ &= zq \sum_{n=0}^{\infty} \sum_{s=0}^{\infty} f(s-1, n-2s+1) (zq^2)^{s-1} q^{n-2s+1} + \\ &\quad zq^2 \sum_{n=0}^{\infty} \sum_{s=0}^{\infty} f(s-1, n-4s+2) (zq^4)^{s-1} q^{n-4s+2} + \\ &\quad \sum_{n=0}^{\infty} \sum_{s=0}^{\infty} f(s, n-4s) (zq^4)^s q^{n-4s} \\ &= zq F(zq^2, q) + zq^2 F(zq^4, q) + F(zq^4, q). \end{aligned} \quad (12)$$

If $F(z, q) = \sum_{n=0}^{\infty} \gamma_n z^n$ we may compare coefficients of z^n in (12) obtaining

$$\gamma_n = \gamma_{n-1} q^{2n-1} + \gamma_{n-1} q^{4n-4} + \gamma_n q^{4n}.$$

Therefore

$$\gamma_n = q^{2n-1} \frac{(1+q^{2n-1})}{(1-q^{4n})} \gamma_{n-1} \quad (13)$$

and observing that $\gamma_0 = 1$ we may iterate (13) to get

$$\gamma_n = \frac{(-q; q^2)_n q^{n^2}}{(q^4; q^4)_n}.$$

From this

$$F(z, q) = \sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2} z^n}{(q^4; q^4)_n}$$

and now we can finish the proof since

$$\begin{aligned} \sum_{n=0}^{\infty} C(n) q^n &= \sum_{n=0}^{\infty} \sum_{s=0}^{\infty} f(s, n) q^n = F(1, q) = \sum_{n=0}^{\infty} \frac{(-q; q^2)_n q^{n^2}}{(q^4; q^4)_n} \\ &= \sum_{n=0}^{\infty} \frac{(-q; q^2)_{2n} q^{4n^2}}{(q^4; q^4)_{2n}} + q \sum_{n=0}^{\infty} \frac{(-q; q^2)_{2n+1} q^{4n^2+4n}}{(q^4; q^4)_{2n+1}} \\ &= \prod_{n=1}^{\infty} \frac{(1+q^{12n-5})(1+q^{12n-7})(1-q^{12n})}{(1-q^{4n})} + \\ &\quad q \prod_{n=1}^{\infty} \frac{(1+q^{12n-1})(1+q^{12n-11})(1-q^{12n})}{(1-q^{4n})} \end{aligned}$$

where we have used identities (3) and (4) after replacing in (3) " q " by " $-q$ " which completes the proof.

References

- [1] Andrews, G. E. (1974). Applications of basic hypergeometric functions, SIAM Rev. 16, 441-484.
- [2] ———. (1976). The Theory of Partitions, Encyclopedia of Mathematics and Its Applications, vol.2, Addison-Wesley, Reading, Mass.; reissued by Cambridge University Press, Cambridge, 1985.
- [3] Gordon, B. (1965). Some continued fractions of the Rogers-Ramanujan type, Duke Math. Journal 32, 741-748.
- [4] Slater, L.J.(1951). A new proof of Rogers' transformations of infinite series, Proc. London Math. Soc(2)53, 460-475.
- [5] ———. (1952). Further identities of the Rogers-Ramanujan type, Proc. London Math. Soc.(2) 54, 147-167.

IMECC-UNICAMP Cx.P. 6065
13081-970 - Campinas - SP - Brasil
email:josepli@ime.unicamp.br

CCET - UFMS Cx.P.649
79070-900 - Campo Grande - MS - Brasil
email:mondek@dmf.ufms.br

RELATÓRIOS DE PESQUISA — 1997

- 01/97 Solving Complementarity Problems by Means of a New Smooth Constrained Nonlinear Solver – Roberto Andreani and José Mario Martínez.
- 02/97 Riemannian Submersions of Open Manifolds which are Flat at Infinity – Valery Marenich.
- 03/97 Comparing the Numerical Performance of Two Trust-Region Algorithms for Large-Scale Bound-Constrained Minimization – Maria A. Diniz-Ehrhardt, Márcia A. Gomes-Ruggiero and Sandra A. Santos.
- 04/97 Finsler spaces with constant flag curvature — Xiaohuan Mo.
- 05/97 Symmetric Singularities of Reversible Vector Fields in Dimension Three — João Carlos da Rocha Medrado and Marco Antonio Teixeira.
- 06/97 Nonsmooth Nonconvex Alternative Theorem and Applications — A. J. V. Brandão and M. A. Rojas-Medar.
- 07/97 On the Klein-Gordon and Dirac Equations — E.A. Notte Cuello and E. Capelas de Oliveira.
- 08/97 Augmented Lagrangians and Sphere Packing Problems — José Mario Martínez.
- 09/97 História da Tangente — Eduardo Sebastiani Ferreira.
- 10/97 Exact Penalty Methods With Constrained Subproblems — Silvia M. H. Janesch and Lúcio Tunes Santos.
- 11/97 Relato de Experiência: O Computador no Ensino de Cálculo, O Problema do Lixo na Unicamp e Outras Aplicações — Vera L. X. Figueiredo e Sandra A. Santos.
- 12/97 Harmonic Sequences of Harmonic 2-Spheres in Grassmann Manifolds — Xiaohuan Mo and Caio J. C. Negreiros.
- 13/97 Open Problems on Regularization of Discontinuous Vector Fields — Marco Antonio Teixeira.

- 14/97 Can the Klein-Gordon Equation Describe Superluminal Processes ? — *J. E. Maiorino.*
- 15/97 Nonsmooth Continuous-Time Optimization Problems: Sufficient Conditions — *Marko A. Rojas-Medar, Adilson J. Vieira-Brandão and Geraldo N. Silva.*
- 16/97 The Symmetric Tensor Product of a Direct Sum of Locally Convex Spaces — *José M. Ansemil and Klaus Floret.*
- 17/97 Optimality Conditions for Pareto Nonsmooth Nonconvex Programming in a Banach Spaces — *A. J. V. Brandão, M. A. Rojas-Medar and G. N. Silva.*
- 18/97 Pontrjagin Classes and the Homology of an Orientable Manifold — *Ricardo N. Cruz.*
- 19/97 Weierstrass Formula for Minimal Surfaces in Heisenberg Group — *Christian B. Figueroa.*
- 20/97 On the Global Convergence of Newton-Like Methods for Nonsmooth Systems — *Márcia A. Gomes-Ruggiero, Vera Lúcia Rocha Lopes and José Mario Martínez.*
- 21/97 The Retrieval of the Optical Constants and the Thickness of thin Films from Transmission Spectra — *I. Chambouleyron, J. M. Martínez, A. C. Moretti and M. Mulato.*
- 22/97 Generic Bifurcation of Reversible Vector Fields on a 2-Dimensional Manifold — *Marco Antonio Teixeira.*
- 23/97 On the Convergence Rate for an Iterational Method for the Equations of Nonhomogeneous Incompressible Fluids — *Elva E. Ortega-Torres and Marko A. Rojas-Medar.*